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INSTITUTE OF USN
TECHNOLOGY
Internal Assesment Test - |
Sub: | Electronic Principles and Circuits Code: BEC303
Date: | 07/11/2024 Duration: |90 mins M:f;: 50 | Sem: |3rd | Branch: ECE
Answer Any FIVE FULL Questions
OBE
Marks
CO |RBT
1 (a) Discuss Two transistor models of Transistor. [4+6]| co1| L2
" |(b) Explain BJT AC model of VVoltage Divider Biased Amplifier.
(@) Define (i) AC Beta (ii) AC Resistance of the emitter diode.
5 (b) The collector voltage at emitter biased amplifier is inverted with respect to [4+6] CO1| L2
" linput. Justify the statement with the help of circuit diagram.
3 With neat circuit diagram, develop an expression for voltage gain, input [10] | co1| L2
" limpedance and output impedance for common gate amplifier.
a) Explain the working of an inverting op-amp with the help of diagram and
derive its voltage gain.
4. . . . 6+4]| CO3| L2
(b) Explain the concept of virtual ground in OPAMP. [6+4]
(a) With circuit diagram, explain the source follower and derive its voltage gain.
5 [5+5] | CO2| L2
" |(b) With neat circuit diagrams, explain biasing of MOSFET by fixing the gate voltage.
For the circuit shown in Fig 1, determine the voltage gain and ac load voltage if B = 150.
+isv
6. [10] | CO1| L3
[2-1S N
: = Fig 1
For an amplifier in fig 2, let Vop =5V, Ro= 10K, V=1V, ki' = 20uA/V?, W/L = 20, Ves=
2V, 2=0. (a) Find the dc current Ip and dc voltage Vpos (b) Find gn (¢ ) Find the voltage
gain (d) If vgs= 0.2 sinwt volts find vgs assuming that the small signal approximation holds.
What are the minimum and maximum values of vps.
7. [10] | CO2| L3
—o—{ V
= = Fig 2
Cl CCl HOD
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